log AL luminance difference 2
95 threshold Lg=630cd/nf

- X y

A 034 040 a0 g p-A3-fit
AD 26s R
average

1 Y 045 0,47
0,15 0,19
0,58 0,32

F 0,25 0,44




log AL luminance difference 2
95 threshold Lg=63cdinf

o X y

A 034 040 [aia & P-A3—fit
AD 26s R
average

1l Y 045 0,47
0,15 0,19
0,58 0,32

F 0,25 0,44




log AL luminance difference o
- threshold Lg=6.3cdinf

o X y

A 034 040 [aia & P-A3—fit
AD 26s R
average

1 Y 045 0,47
0,15 0,19
0,58 0,32

F 0,25 0,44

UEO11-2A 3



log L/AL luminance contrast
sensitivity threshold

Lg=630cd/n?

2--

17T data & P-A3-fit
AD 26s R
0+ average

UEO11-2A 4



log L/AL luminance contrast
sensitivity threshold

Lg=63cd/nf

2--

17T data & P-A3-fi
AD 26s R
0+ average

UEOQ11-2A 5



log L/AL luminance contrast , _
sensitivity threshold Lge6.3cdin?

2T

[ data & P-A7 -nt
AD 265"
L aver.ge

UEO11-2A 6



L/AL luminance contrast =
senitvity throsnold  Lg=630cdi?

40T X y

A 0,34 0,40

| Y 045 047

0,15 0,19

0,58 0,32

data & P—A3-fit
AD 26s R
average

301

20T © 0,25 044

101

0 .
=5 =2

UEO11-2A 7




L/AL luminance contrast
sensitivity threshold
40T X \
A 0,34 0,40
| Y 045 047
0,15 0,19
0,58 0,32
20T © 025 0,44

Lg=63cd/nf

data & P—-A%~fit
AD 26s P
averag,e

301

101

0 .
=5 =2

UEO11-2A 8




L/AL luminance contrast =
senitvity throshold  Lg=8:3ed/nf

40T X y

A 0,34 0,40

| Y 045 047

0,15 0,19

0,58 0,32

data & P—A.a-fit
AD 2¢5 "
averaye

301

20T © 0,25 044

101

0 .
=5 =2

UEO11-2A 9




